2000 1140 2000
158 | 824 (FOMR), | 158
(%)
B MERDENES,

906 (%)

A-A @R (1/40)
BEBFERpERRTE LT,
¥ FREOBELRETE. FAE

geg002
&

C BN (1/8) n =—(12)

o

D& B8 (1/8)(15

| B BB 5% B B B
1 |[Zi 0100x 100xt3.2 | STKR400 BRH- E HITHHREE
2 |Bff7L-+ t1.6x 2000 SGH BEpo- & HISHINEE
3 | "z nn- t1.6x 1000 SGH BRH- E HITHHRER
4 | ElAan- Weo AB063S -
5 |im8#H - W65 AB063S 2E
6 | Ny xy t2 EPDMA® Y Y Bt 7L - B
7 |®nbery b [M10Xx125 4.6185 BRI - &
8 | bI A2 M8x 20 4,615 BRI X RE
9 | FUKZY b4 ATYUA -
SEE S
No B0 % 5% "B B B

@it 7 BEEBREA
10 |AEA2L GHD |t64% 1940%x 853 PEE: SALBE -
Bt ABOB3S

11 |PSR VA 33x11.5X 1963 A6063S. EPDM -
12 |P%:YB 33x 11.5x 1963 A6063S. EPDM -
15 |P4:VD 33x 11.5x890 A6063S. EPDM -
14 | Kewn n-A t2 A1100P BE
15 [#mnn -8B t2 A1100P 2%
16 [Rxvv 7 ¢ 16/ F40OY i
17 | &% t4 ATY LR Z
18 |AR—¥— t1 ATV A -
19 |Z=fR fERMA [t2 AFYLA -
20|y )y 5-3t - LA20—4.SV (ZHOy 78D -
21 1A+747 - Ab749G GOy 78) -
22 [Pk V#sE [12 ATy U A. EPDM -
25| k72 by - |HH2 BRSANA N -
24 [HERMEEA [13.2x2000 SGH oo & HITHINEE
25 |8 (ROUAD | 60x 30x 2.3x 1955| STKR400 BRO- & HITHHREE
26 |HHE (UMD | 60x 30x2.3x 1955 STKR400 oo E HISHINEE
27 | (FEA) | 60x30x2.3x926 | STKR400 B> & HITHHREE
28 | thhn-£8 (RER) [ t2.3 SGH - I HITHNEE
29 |47/ z2y MSx 10 ATYUA o n-/
30 |49z M5X 15 ATV VA -
ST bIADRY M5x 15 ATYUVA HiE (RYA) B, L A-A
32 [ FRPp2YFy b [MBX 25 ATV U A fEEE TR
33 AR b M8x 50 ATYUVA Mg, BIE BER
34 | REEY - ¢ 24 PET. PP $EIE A
S5 VIANRY M4x 8 ATYUVA P33R VA, "ELH

2000 1140 2000 U SHE
i— & il
5 ALY @ T
r\')_‘ == == Q—’ i m i
_ XCJV . o f o—t | @i @
s || ol
o — I
M ) L I i@
g m—_ LH = 8 . s
=l | = : &1 | @ |k | |
S - L]
CL CD\*" EEN M Alo 4 7
8 ’ -
= = L ERAmEAN (1/8) BN (1/8)
(@)}

| 1800 |

_
FEE (1/40) O

) AROAKETESETETY,
1) CSUPHRTY,

B-B B@E® (1/40)

900

AW OTEBHEITERBERX : 400HZINL T25dBME. 1000HZIH L T 30dB L0 BRI %17,

(HRERE. AROLOFELSERT2HENHVET, ITESLTL, )

A-ABEEAR (1/8)

Ex A4 AR T VA BESHURPS—4RGo (4 T

k&

#2000

KFTHO0201% 1

VANVE RS )=




